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SHia Yy B4 Sk | W% | (ke) &% (M) wiE | i em | (HAL)
30100 VA 70 7,020 119 86 86 | BN 704
31200 I3 1 454 65 65 65| B 748
31200 [LiER3E 3 1,112 76 76 59 | B 163K
Y3014 | KiRZE 4 680 32 32 32| BN 2138
31700 %y 30 6,264 2,160] 2,160 1,944 BN 37— R
31900 XX 2 1,512 756 756 756 | BN 2kg
34500 E—< 5 2,074 432 432 432 | B 5kg
35100 WAIT A 1 891 810 810 810 | BH lkg
35220 X b XRHD 8 10,411|  1,458| 1,458 1,296 | B ‘8kg :
Y3033 LWL 145 23, 760 | 302 130 76| B 145kg 7
36501 < A% 20 3, 456 173 173 173 | B 20kg
137200 L x 98 N 12 4,752 432] 432 324 | BN 12kg
34980 ~b = 5 605 | 76| 11 IRRR=1%) 1674 i
Y3030 LA (39) . 3 5,184 1,728 1,728 1,728 B 3kg
31500 /AR 2 583 65 65 HER 94
34800 < b | ! 4,180 97 97 97 | &M 43% » h
46108 S AMEDMEE 6 9,439 497 497 497 | BN 193 7
71011 RS L—% B ’ ‘ 11, 340 54 43 43 BN “ 2504
71150 LT 1, 404 76 76 - 65 B 203
39870 i ' n 734 432 432 432 B 2%kg
V3048 T v ¥ 3 O - 2,570 756 756 756 | BN 3kg
30100 72W\WZ A 2L 50 4,212 97 76 (= 504
30100 72V 2 A B 90 4,320 648 486 324 IR B o%
30100 72WZ A B 2L 60 7,776 1,296 1, 296 1,296 BERE 677 — A
30300 A% 60 18,360 3,240 3,024 3,024 |BEA 6r—A. |
30300 A% L 40 12,096 3,024 3,024 3,024 BEA ar—=
30300 AZ L 100 10,584 1,080 1,080 972 | HE 104 — %
31100 A3 150 15,984 2,160 1,404 1,404 EIRE 10 —2A |
31200 (LI i 4 1, 296 65 65 65 | KR B 2045 7
33500 VT X3 1 356 32 32 32 | & [ 1148
37440 A\ bh 2 896 896 896 896 | IR B 17— %
32600 4 4 1, 080 54 54 54 | FEIR B 204%
31700 % ¢~ 250 27,000 1,296 1,080 972 | I 254 — A
31800 1EHNAK 8 5,832 | 151 151 140 |BEEIR B 4048
31950 HARX 9 2,268 | 756 756 756 | 34—
31950 HAE . L 3 2,160 2,160 2,160  2,160| K%  1F—= |
31900 X 6 3, 564 324 | 324 324 | EIRE 113K (500g)
31930 —h¥ oL 3 4,536 151 151 151 | e 3043
32800 |IZ6 S 5 2,322 59 43 43| E 505 ,
34300 729 2L 35 10, 908 1,728 1, 404 1, 404 | HEAR Tr—=x -
34400 k= b M 4 2,502 2,502 2,592 2, 592|pEA 17r—= |
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B, R o iH
a— K| 4 HiR | PR (kg) & (1) =l | Pl 2l PE H (H457)
34460 I = b F & M 5 6, 998 292 292 292 | IR 24,3y 7
34100 #AI 75 25,596 2,160 1,728 1,404 | =i 1547 — 2
34200 F§/I 20 8,640 4,320 4,320 4,320 ERE 24—
34520 RE—<> A L 3,024 3,024 3,024 3,024 K4y 14—
34571 T U F (FR) 648 65 65 65 | EE[E 101@
34572 TV A () 583 65 65 65 | EE[E of&
36600 7-Frnx Lk 160 11,016 1,620 1,296 1,296 | dbifEE 85—
37200 L x 9 M 2L 4 648 648 648 648 | H[E 1 —=
33400 L& R 6 2,268 2,268 2,268 2,268 ElF 1 — 2
33400 L X % 24 8, 078 173 162 151 | B 508
32900 LY — 648 324 324 324 | 15 [if] 24
33300 Ywuv =) — 1, 469 184 184 184 | £l 818
38100 4 LW\ i 10 7, 560 76 76 76 | 'E i 10075 7
33100 |7 AT H R 1 454 65 65 43| F—2 5 8K
ur

31500 | /ASE 8 4,752 2,376 2,376 2,376 | EIRE 24— A
31500 | /MAK 12 4,185 86 70 65 BERE 608
32500 HoIE 1 864 86 86 86 | K4y 103
36340 & LB 2L 10 3, 780 378 378 378 BB B 10kg
37560 | BB 1 1,944 324 162 162 | K4y 105y 7 |
38521 SR LBUFHE 3 3, 564 119 119 119 & 3014
40100 | HA 9 12,528|  1,620| 1,620 1,080 |EA 9 —= |
Y4034 BB /INB A 21 2, 268 108 108 108 |EIR B 21% v k
42320 VaFI—n R 10 5,940 5,940 5,940 5,940 | EZ 1r—2 |
Y4017 5L 20 4,752 2,376| 2,376 2,376|EH 24—
43610 EHMX M 20 5184 1,296 1,296 1,296 %[ A==
43770 PESRD) X 4L 50 8, 208 864 864 756 | B HL 107 —= |
43800 1E LAH 2 2,398 400 400 400 |REA ey
46108 EPUEOHE 2 2,592 324 324 324 BB 8%y |
49100 ~FF 120 9,774 1, 458 648 648 7 4 UL 107 —2

&k 1,894 386, 930 | ‘




